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Eoap<icn Sy LIFAESUD IBU fEWh< /\A ;\f L:t:_/z FAH <
REAR T, HEBRUBE PHT KZIICTE, K>oT ULERo>7( ) EEIIC BEULT
B & KLy,

EuMR<iZw>L

REAF T (& = when you take the entrance examination of a university, /
LT AhESLD

AEEY H = on the examination day /

F0

#)& T = for the first time /
ijti?( Ic = to the unlver3|ty/
ﬁ%\ —173’& = 179710 ZUL7T. =wentand ..
179 fc = went = <plain-style-past-affirmative> of 1‘I:é &9 g1 (go)

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

i‘?lzo T ULZE o7 =to one’s regret, (X) lost the way = <plain-style-past-affirmative> of 2 ﬂo TUu
XWX T =to one’s regret, (X) lost the way

* %L\i@“ g1 = be puzzled, be perplexed, lose one's way

* [te-form] L E WX J =1 to one’s regret, he does ~ 2 finish doing ~ completely /

— (X) went to the university for the first time on the examination day and, to his regret, (X) lost

his way

TR

1
t;b\ =

1. dictionary-form (plain-style, non-past, affirmative) of & D &9 (there is ~, have ~, exist)

2. part of [nai-form]
3. part of the negative of an i-adjective sentence, ‘[i-adjective +~] 7& WL\ T3’

4. part of the non-past negative of the plain-style of na-adjective and noun sentences, ‘[na-
adjective / noun] Tl& &LV

2
E WD =(X) EWD (Y) =(Y) called (X), (Y) named (X), (Y) which is (X) (It is used to

supplement the contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
& WD = <plain-style-nonpast-affirmative> of & WX 9 g1 = (X) say that ~ /

3
£DIC=1.sothat~ 2. like ~, as ~, in the same way as ~



Z & = 1. thing, matter, fact 2. [plain-style] Z & is used to make a noun phrase.
D = (X) D (Y)=1. (X)’ (Y), (Y) which belongs to (X) 2. (Y) from / made in (X) 3. (Y) about

/ on (X)
M = We often change »‘ <subject particle> to @ in the subordinate clause.

TR

gﬁ/ﬁ [C =in advance, ahead of time, earlier than expectgd /

%UE% L T & < = <plain-style-nonpast-affirmative> of %%5 LT &Z X9 =visit (the place) for the
purpose of learning beforehand, see (the place) around beforehand

* HEM% L ¥79 g3 =go on a field trip (museum, factory, brewery, etc.), visit for the purposes of

learning
* [te-form] & E X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience 3

leave ~ asitis/
= [plain-style] & = .... and naturally (consequently) ~
& LY = <plain-style-nonpast-affirmative> of KWW T3 (LW\WTT) = (X) is good. /
— it is good if (X) visit (the place) for the purposes of learning / see (the place) around / tour
(the please) beforehand (in advance) /

00O

EWAKIEw S L U AESLD FU fEWh< 0

REARTIE, SEREH 1T KZICITE, D’C LEoxlc& WS 2&ED BW K5I

U A FAH<

Fallc RELTHEL & &L, =

When you take the entrance examination of a university, it is good for you if you tour the
university beforehand so that you don’t have the fact that you go to the university for the first
time on the examination day and lose your way.

(137

Lea & % ATV Ewu BAF L
HBIRZ O D IERW L £BWVWEXT AL ZRF_%? B ( N TNE B &o& FAET
ER

U & ks)
iﬂj_@ﬂik’& D M =to have a hobby, having a hobby
ks) kS
* ¥ D = <plain-style-nonpast-affirmative> of 5 £ 39 = hold, carry, possess

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
|& <topic particle> /
ES

BW Z & =agood thing /
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Z = [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =is

(are, am) /
& <quotation particle> /

BH

BWZET =1think ~

HY. =but,

— | think that having a hobby is a good thing, but

AQA A

1
& 73 % = <plain-style-nonpast-affirmative> of & 7D £9 g1 = become ~

& — [ (We normally use ‘[na-adjective / noun] IC 7&D £9))

2

X T = until, till

3

& =1. <quotation particle> 2. [plain-style] & = ~ and naturally (consequently) ...... , if ~
4

[C LT —[noun] IC ULZX Y =decide on [noun], make ~ [na-adjective / noun]
[te-form] ¥T~ LEXJ =do ..... by going so far asto do ~ (N1 P137 No.28)

AQA A

BHAREL
ZhiE 5 & > & BT =Thatis a little problem.

00O

BEsE Bo DIk B CE 2 BOET . RESBEIC LT T LA & Fhi
H AW

5 KD & ﬁ:ﬁIEEIE-ZSa_o =

| think that it is good of you to have a hobby, but if your situation becomes (the one which you
are engrossed in your hobby) by going so far as to sacrifice your family, that will be a little
problem.

nTWn EcAN

*REZ 1B [ LT FET =(you are engrossed in it) by going so far as to sacrifice your

r~ERBE Lo = (the situation) become ~ and naturally ..... / if (the situation) become ~
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,é_/ubbct _é( o UoiEwn [6} - - n< N
BIEHIC Bofes. Te&E X ( ) BT D %%I% 7% & WS <50 D BB &L
TlEF 725780\,

MADL 3:(

E18 B = managerial post /

[C/

mofcs. =if (X) become, when (X) become, after (X) become
* 7& o fc = <plain-style-nonpast-affirmative> of 7& D £9 g1 (become)
* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and I tell

you what happened /
fc & Z = even if, even though <used to emphasize [te-form] & / [nai-form /&N > IZ< T =

even if ~'>
PAQAQAe

1
~f&ELT=...%Z[noun] 2 & LXY, £LT. =make ..... [noun], take ..... as [noun]

2
~ M 72 < TH =even if there is not ~, even if (X) don’t have ~, even if (X) don’t exist

* nai-form of % D £ is 72 \L), and %2 < T or 7L\ T is used as the negative-te-form of 3 D &
9.
* [te-form] H = even if <affirmative>,

* [nai-form &\ — 782 < T] H = even if <negative>

AN

h
Mo E BEE <N BDEF>=1am responsible for ~, (lit: there is a responsibility in myself)

3
U
=
4

[V

B ® &1E = one’s own responsibility

Rh U iEn
T DL = subordinate person’s failure (mistake) /

[
5 %%H% <plain-style-nonpast-affirmative> of §| % |7 %9 g2 = undertake /
n< e
E WS < 5L D BB = the resolution (resignation, readiness, preparedness) to such an

extent that ~

417



*(X) EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* [plain-style (‘da’ in ‘[na-adjective] da’ become ‘na’ and ‘da’ in ‘[noun] da’ must be omitted.)] < 5

L\ =to the extent that ~ (N2 No.23) /

¥ <subject particle> /

2 TlE 72578\, = plain-style of 7& < Tl& 7% D ¥ A = must have ~, have to have ~

* [nai-form &L — &< T & 72D ¥ A = must do ~, have to do ~

* 7&\L\ is the nai-form of 35 D &9 g1 (have ~, there is ~, exist) /

— (X) must have the resolution (resignation, readiness, preparedness) to such an extent that he
takes his subordinate’s failure (mistake) //

NAD UK < U R A L& /u EITh LoiEn

I TS, Tk X BANC ia& MELTE B0 EE 72 & LT HForl
H3EBIB & NS <SN D EEN AL TIE ASHEL, =

If you are advanced to a managerial post, you must make up your mind (must make a decision)
to such an extent that you take your subordinate’s mistake as your own responsibility and
undertake it even if you are not responsible for it.

q

>
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50 F5Z 5 &
( ) NS BT f2 o Teo
PAQAQAG

1
H &b & & = originally, by nature, from the start

2

o) L

HHNE 72 HY = (X) is our (my) company, but

* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =
(are, am)

P e @

T Z% =Now ~, (but it was not like that before) 8-

Z % = <used to show an emphasis>

ugomvéng

/m niEEE _\bn% = it is said that (X) is the first grade company
%bh% = be said = passive-verb of EL\E 9 g1 (say)
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AQA A

50 52 5 &

INE 7R B T2 > 1= = (X) was a small factory in town.

* [na-adjective / noun] Z > fz = plain-style ‘[na-adjective / noun] TU 7z’ = (X) was ~ //

nwE WEDBSETLS W o Pl . 50 FE5Z 5

£TZZE —RfEE Ebhd BN D HEbEF NSBREIHLE > =

Now (our company) is the one which is said to be the first grade company, but it was originally a
small factory in town.

ICWEA S H PLN5 A EWib > K CHE P<oK

HEMT N FTI BV BIE BU 3 HEO FENE Ao BEDIE MATWE ()&
WD,

[CWEA < P [F LD

HEMET I £TIC t:tl/\ Tﬁ’a? ,,\b% ﬁHﬁU} _I:EEMSAJ = (He is) an actor, Ueda AKki

who will play the role which never exists so far on the new TV program 8-

* 72U\ = don’t have, there is not ~, don’t exist = <plain-style-nonpast-affirmative> of &% D £
g1 (there is ~, have, exist)

b= b % = <plain-style-nonpast-affirmative> of & b 9 sg2 = perform (a play), play (a part),
act (a part) commlt (a blunder)

\‘J’)(

&IED (T |“'/uT W5 = (X) is worrying about making his roll (interpretation of his roll)

&’VJ

* ,l WA \\/

/u'( L\ % = <plain-style-nonpast-affirmative> of l AT WX T = be worrying about ~ now
* 'I“’Jii? g1 = be worried, be troubled, worry, be concerned

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

A QA QA

1
~ & =1. with ~ (accompaniment) 2. [noun] and [noun] 3. (quotation)

2
Z > THIRL = (X) is not really so

*plain-style of €5 TH DO XEA

3
&6
~ (&) BUL\ E4° = | thought that ~, but ..... (N1 P25 No.27)

~ (D H" = (question), | wonder?
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* D hH = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] ® TY H=...... , | wonder? — D can be changed to A.

AQA QA

& <quotation particle> /

L\ D = <plain-style-nonpast-affirmative> of \L\L & J g1 =say //

[CWEA S P ns =yaYo] 717&37)% f—’(’) ]

zﬁﬁ‘fﬂ’( Zh ¥¥TIC 7‘8\\/\ W’a} /,\b% ﬁHﬁ@ EFHME A, EIEDIC I"/vTL\% DH &
,ub\éﬂb Z5 THRBRWL & WD,

(He is) an actor, Ueda Aki who will play the role which never exists so far on the new TV
program. | thought that ‘Is he worrying about the interpretation of his role, | wonder?’, but he

says that he is not really like that. &
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